




















































































ST 02 Week 17

Confidence Interval continued

For i i d random sample Ii from FIX O and
a statistic 1 Int is the MLE of
Recall that under some regularity assumptions

EfNIO.in 05
with 110 the Fisher Information

Then the 41 21 confidence interval of 0 is

8 Zz NIE 2 NICE

F vianeformed

Ii from Normal with known µ 2230

Let M m 1152 XI proof in Lecture

By the distribution of Y Xni we can find ock aka
IPC Yek PTY 2K I α Elo D

1 α IP K a cka

An 4 21 confidence interval for 22 is

a























































































Hypothesis Testing

With i i d random sample Ii from some

distribution with e d f Fix we want to test

Ho 0 do null hypothesis
1 1 Of alternative hypothesis

for some specific 0 and the set of alternative
values with Oo

2 significance level

We usually design some test statistic
T TI 1 In

For any given sample I would correspondingly
take a specific value T t

p value P PH T t or more extreme values

Decision rule reject Ho if p α

don't reject Ho otherwise

Alternatively define critical value Ca with
PUTI under Ho takes value at least as
extreme as a α

reject Ho if IT C2























































































T sidedtestfr

normals.IEfrom NY 227 a so known

Ho M Mo VS HI L
Given

One choice of test statistic is

T JnEj I
under Ho

Reject Ho if IT large
In this case Ca ZE

O siddtetfr normal.se

1 from Nga 227 with a so known Test

Ho Milo vs Hi McMo

Still use T Ef as test statistic

We can derive that Ca Za and

reject Ho if T Cα




















































































I rnormalswithunknownuari

ance.IEfrom Ny 27 both µ a unknown

Ho Milo v s Hi Memo

Test statistic T th 1

Then we know G th 1 α and we reject Ho
if T Ca

Tegeneralformulations
i from FIX O Test assuming on 1 01

Ho OE o V S Hi OE
with significance level α

Step 1 Design test statistic T T E _End
especially we need to know the distribution
of T under Ho

Step 2 According to such distribution 1

identify the critical region sit

PHOITE α

Step3 Calculate T on data reject Ho if Tf


